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QUESTION 1

A two-parameter lambda function raising its first parameter to the power of the second parameter should be declared
as: 

A. lambda (x, y) = x ** y 

B. lambda (x, y): x ** y 

C. def lambda (x, y): return x ** y 

D. lambda x, y: x ** y 

Correct Answer: D 

 

QUESTION 2

Which of the following expressions evaluate to True? (Select two answers) 

A. len (\\'\\' \\' \\'\\') == 2 

B. len ( \\' \\' \\' 12 34 \\' \\' \\') == 4 

C. chr (ord(\\'z\\') - 1 == \\'Y\\' 

D. ord (\\'\\'0\\'\\') - ord (\\'\\'9\\'\\') == 10 

Correct Answer: AC 

 

QUESTION 3

What is the expected behavior of the following code? 

A. it raises an exception 

B. it outputs True 

C. it outputs False 

D. it outputs nothing 
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Correct Answer: B 

 

QUESTION 4

You are going to read just one character from a stream called s. Which statement would you use? 

A. ch = read(s, 1) 

B. ch = s. input(1) 

C. ch = input(s, 1) 

D. ch = s. read(l) 

Correct Answer: D 

Reference: https://stackoverflow.com/questions/510357/python-read-a-single-character- from-the-user 

 

QUESTION 5

What is the expected output of the following code? 

def foo(x,y):

 return y(x) + (x+1) print (Foo(1,lambda x: x*x)) 

A. 3 

B. 5 

C. 4 

D. an exception is raised 

Correct Answer: A 
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